<TET- ITaOn >

FNIBNRIf2N!) > TEeF->TU 3 | have an apple to eat.
WX TENZT20N!) > TEE>TLESH Do you have an apple to eat?
FNIBRI 720N ) > TEF>TLVAL) | don't have an apple to edt.

RITBNRI=0N!) > TEtF>TUI He has an apple to eat.
RISBNZ=0MN!) > TE€E>TLVETA  Does he have an apple to ed?
IRITBNRI =N ) > TEF>TLVAL) He doesn't have an apple to ed.

RSB I =0N!) > TEdF>7TLZ She has an apple to ed.
IR IENZ 20N ) > dLE>TLEIH  Does she have an apple to ead?
R IBNRI=0N!) > TEtF>T7L VL) She doesn't have an apple to edt.

ASEIBNRI =N ) > TEdF->7L3 We have apples to edt.
BSIFZENI20N!) > TEE>TLVESH Do they have apples to eat?
ASEIBNZ 0N ) > T&dF>7LV7L) We don't have apples to edt.

NS N=DNEELF > TS | have money to play.
W T N=ONHELF>TEIHY Do you have money to play?
FN G N2 NPELFF>TL VAL | don't have money fo play.

RGNz NPERLHTFH>TUI He has money to play.
R ST N NHELHF>TLVESAH  Does she have money to play?
RSIHEG N =ONHELF>TLVALY  They don't have money to play.
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